1. Determine the interval of convergence for }, 5——12{";21 2 pememw’ "

| Y™ (k- ™ Iﬂ i \> ‘Auaf'\“)“”w
lim nel
NS0 | - \im (%- z)n-r\
AN (x- DD N oo , =2 L him | (DN
n N+ | (%=-D" NI | g l
= |x-2|
Ix -2 <| "-u cheeh end pom-\-:;
-'<9<_2" (,th—"\ 7(=\ whe n X=2
o0 (- )P‘\ - n o .
cR< D & NP (1-2) 5 LN0(e-2)
ne n n=) "
& (-0"¢-)" - N TD O
r & "

& g - D & (3"
3 sf ™ 00= “g lg} 2 Z D)

! LA
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3. Consider the power series X %n;ll
n=1

a. Atwhich x-value is the interval of convergence centered for the power series

above?

X==2

b. The radius of convergence for the series above is 3. Find the interval of
convergence for the power series.
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b. Based only on your answer from part a, what can you say about R, the radius
of convergence of the series?
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5. Consider

5 o (x - 4)™!
n=1

a. Find the radius of convergence of the power series.
' LNt L} \ |
lim |((°; D, _nS wn | =D
N30 n+) S =
] (“,q3ﬂ+\ LAt 1~ (.Y\"'D =

= l = (x-4)

\-3_;(«—43\ <\
ot (Flx-4| <
-\ < BL(’X""D<\ ceold Find | 2

Py ) \x-4)¢5
"5 ¢ X- <D ) 2 R
-1 < 'X‘ﬁ P\___51 e Ndefech oS

b. For which values of x does the series converge absolutely? For which values
of x does it converge conditionally?
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6. Consider

oo

2 x5

a. Does the series converge or diverge at x = 3?
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b. What does your answer from part (a) imply about the radius of convergence

ies?
of the series? certered @ x=5 converges ®@ x=3

| h=22 |

c. Find the interval of convergence of the power series.
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7. You are given that the power series Y, Cn(x+ 3)" converges when x =— 6 and
n=0
diverges when x = 1. Write an inequality that represents the value R could be. (R
represents the radius of convergence). Vs %
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8. Determine the interval of convergence of Z‘, %%L
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9. The power series Z H? has radius of convergence 1. Determine the interval of

convergence of thlS power series.
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